PAERAB 065 ERALII B Y EEH

B V—JJ:EF%? Eﬂm’""r
R g S

T’F%’é;‘i@siiﬁ :
1. A338 L 458> 538254 ; 2 2 F o

zz%%{’?%ﬁiﬂfﬁﬁz’@@%ﬁﬁﬁ°
BHEM A TE A AT

fl
— ~ Consider the mobile systems, the one of 3C applications in the computer
sciences. Android operating system (AOS for short) is a stack of
software components, which is divided into five categories and four
main layers. Describe what the categories and layers of AOS are, in
details.

(= ) There are two restaurants next to each other. One has a sign that
says, “good food is not cheap,” and the other has a sign that says,
“cheap food is not good,” Are the two signs saying the same thing?
Say the reasons in the formal rules, as your decision. (15 %)

(= ) Decide the two propositions as follows:

[(PAG) V(PAD)]—s
and

[pv (gan)lvs,

which are equivalent or not. (10 4*)
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(- ) Consider the directed graph in the following:

Please give the adjacent matrix for the directed graph. (12 & )
(= ) Represent the directed graph as an adjacent list. Assume the
numerical order on each list of adjacent vertices. (13 4 )

AN
(- ) Describe the functions of compiler and interpreter, respectively, in
a computer system. (8 4 )
( = ) Please write the seven layers of Open Systems Interconnection
(OSI) model and explain their functions in detail. (9 & )
( = ) What are the functions of registers and cache in a computer system?
(8 4)

RS 2



